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ENGLISH -40

(Grammar-20)
1) Tick the correct option to complete the following sentences: 1x8=8
i) The collective noun to indicate ‘a group of birds’ is

(@) herd (b) flock (c) school (d) hive
i) The word ‘himself” is a/an
(@)Noun (b) Adjective (c) Pronoun (d) verb
iii) The word ‘Bench’ is a
(a) Masculine (b) Feminine (c) Neuter (d) Common gender
iv) The plural form of the word ‘Fox’ is a
(a) Vixen (b) Foxes (c) Foxen (d) Foxess
v) The word ‘But’ is a
(@) Verb (b) Preposition (c) Conjunction (d) Interjection
vi) The sentence ‘Rahul plays the tabla well’ is written in-
(@) Present Indefinite (b) Future Indefinite
(c) Present Perfect (d) Past Indefinite tense
vii) The past participle form of the word ‘Rise’ is
(@) Risen (b) Rose (c) Rising (d) Rised

viii ) The Modal Auxiliary Verb in the blank will be-

‘He help you yesterday.’
(a) Shall (b) could (c) will (d) May
2. 1) Fill in the blanks with appropriate article & preposition : 1x2=2
a) Mihir is writing ared pen.
b) He is ideal man.
i) Use appropriate W.H words to fill in the following blanks : 1x2=2
a) long will you stay here ?
b) old are you at present ?
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3) Do as directed : 2%x4=8
i) Tarun is a good boy .(Make the sentence negative )
Ans:-
i) What is the plural form of the word ‘Goose’ ?
Ans:-
iii) Punctuate the sentence - ‘will you please bring a little water for me ’
Ans:-
iv) What is the feminine gender of the word ‘stag’.
Ans:-
(Vocabulary -10)
4. Tick the correct option to complete the following sentences: 1x4=4
i) The synonym of the word ‘valuable’ is
a) cheap b)costly c) shabby d) broken
i1) Choose the odd word out
a) Gun b) Machine c) sword d) Pistol
iii) The antonym of the word ‘punctual’ is
a) Timely b) Long c) Lazy d) Late
iv) Choose the correct spelling —
a) Caterpillar b) Caterpillar c) Catarpilar d) Caterpillar
5.1) Re -arrange the jumbled letters to form word or sentence : 1x2=2
i) ‘CHETERA’
Ans:-
ii) always late to Raju School is
Ans:-
il) Do as directed: 2x4=8

1) A baby cow is called ?

Ans:-
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i) The cry of a cat is called ?

Ans:-

iii) What is the living place of a dog called ?

Ans:-

iv) Write the name of a ‘group of ships’.

Ans:-

(Spoken Expression-10)

. Tick the correct option to complete the following sentences: 1x4=4
i) To wish someone in the evening we may use -

a) Good Evening! b) wish you evening!
¢) Evening to you c) None of these.
i1) What would you say on your friend’s birthday ?
a) birth day to you! b) Many many happy returns of the day!

c) Be happy! d) None of these.

iii) How would you beg sorry to your mother ?

a) ’m sorry!. Can I help you? b) Sorry! Mother.
c) No problem d) Sorry !
iv) ‘Thank you ! = ’?
a) Welcome! b) tanks a lot!.
¢) No mention d)it’s OK!
. Fill in the blanks of the followings :- 1x2=2

1) Miss: Good morning children!

Students:-

ii ) Thanks a lot! >

.Do as directed: 2%2=4

i) You are late at School.What would you say to the Class Teacher?

Page [COM/M-5




Ans:-

ii)You want to enter Headmaster’s room . How would you beg permission?

Ans:-

GENERAL SCIENCE - 20

A) Tick the correct option to complete the following sentences:

i) Plants grow in soil or in -

a) Water [ ] b) Sky [ ] c) Clouds [ ]

i) Humus, silt, clay and sand are all parts of -

a) Soil [ ] b) Plants [ ] c) Animals [ ]

iii) Which planet do we live on ?

a) Uranus [ ] b) Neptune [ ] c) Mercury [ ]

iv) Source of proteins includes -

a) Fish[ ] b) Poultry [ ] c) Egos[ ]

v) Sandy soil is mostly found in

a) Desert & beaches [ ] b) Forests [ ]
vi) Jute plant is used to make -

a) Ropes [ ] b) Medicines [ ]

B) Answer in one or two words:
i) Which is the largest planet in the solar system ?

AnNS:-

il) Energy is needed to perform

Ans:-

i) What is simple device ?

c) Greenland [ ]

c) Perfume [ ]

1x6=6

d) None of the above [ ]

d) Rocks [ ]

d) Earth [ ]

d) All of them [ ]

d) Mountains [ ]

d) Spices [ ]

1x6 =6
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Ans:-

iv) Name the trees or plants which give us oil .

Ans:-

v) Which star is at the centre of our solar system ?

Ans:-

vi) Name two water borne diseases .

Ans:-

C) Answer briefly in one or two sentences:

i) The tiny pores present on the leaves of plants are called ?

AnNs:-

i) How long does it take for the Earth to rotate around the sun ?

AnNS:-

iii) How to control noise pollution?

AnNs:-

iv) What is balanced diet ?

AnNS:-

MATHEMATICS - 40

A) Tick the correct answers :--

2x4=8

1x14=14
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i) Tina shades some parts of a game board . What fraction of the game board is shaded ?

)= b)= 03
i) What is the shape of the image ?

a) Triangle b) Diamond c) Circle d) Pentagon
)8 X9=.......cceoeninn. +9 + 9. The missing number s .............

a) 54 b) 45 c) 43 d) 34
iv) Which number represents seven hundred fourteen ?

a) 704 b) 714 c) 740 d) 741

v) If Robin sells 479 eggs each day , how many eggs will he sell in a week ?
a) 486 b) 2833 c) 2838 d) 3353

vi) What is 10 more than 7754 ?

a) 7845 b) 7755 c) 7764 d) 8745
vi)0+5=7

a)0 b) 5 c)1l d) not possible
viii) 7 4=28 , The right symbol is -

a) X b) + c) - d) +

ix) 2659 — 1323 = ?
a) 1633 b) 1336 0)1326 d) 1363
x) XIV + XXII = 2

a) XXvi b) xxxvi C) XXviii d) xxxviii

Xi) 3421 = 3000 + +20+1
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a) 420 b) 401 c) 400 d) 40
xii ) In 7526 , what is the place value of 2 ?

a) 2 b) 200 c) 20 d) 22
xiii) The second greatest number formed by 4, 0, 4, 1 is

a) 4410 b) 4140 c) 4014 d) 4401
xiv) 6490 -200 -70 =?

a) 6290 b) 6420 c) 6220 d) 6270

B) Answer the following questions : 2x7 =14
i) Arrange in ascending order :- 5821, 5812, 5218, 5128
Ans :-

i) Find the missing numbers :

1234, 3234, 4234,

iii) Form the smallest 4 digit number using 9, 2 and 5 by repeating one digit two times .

AnSs :-

iv) Find the sum of largest 3 digit number , 16 hundred , 2 thousand thirty two .

Ans :-
V) (1252 + 1917 ) + = + (1917 + 2325)
vi) 16 X =12 x =144
vii) (10x40)x0=10x (40 x )
C) Answer the following questions:- 3x4 =12

I) Find out the remainder : 2098 = 9
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i) Express 9010 mtr into km and mtr

iii) 6 boys and 4 girls are playing in a park ,

a) What fraction of the children are boys ?

Ans :-

b) What fraction of the children are girls ?

Ans :-

O | &
NN )
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Iv) Arrange in descending order

Ans :-

For Rough Use

Page |COM/I-10




Page [COM/M-11




